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QUESTION 1

What are the benefits of Electronic Medical Record? (Multiple Choice)
A. Include all-around information

B. Easy to share

C. Improve record management efficiency

D. Be prone to loss

Correct Answer: ABC

QUESTION 2

The BMC is the intelligence in the IPMI architecture. Which of the following functions cloud BMC provide? (Multiple
Choice)

A. Provides access through the system serial port

B. Records fault logs and sends SNMP alarms

C. Accesses system event logs (SELs) and sensor conditions

D. Controls the power-on and power-off Use the same of system PSU

Correct Answer:. ABCD

QUESTION 3

For industrial automation companies, which type of cloud model can offer the best compromise for manufacturers
between the benefits and challenges of public and private cloud deployments?

A. Public cloud
B. Private cloud
C. Hybrid cloud

Correct Answer: C

QUESTION 4
Which of the following hard disk key indicator description is incorrect?
A. Hard disk capacity is measured in MB or GB

B. Hard disk capacity is only related to single platter capacity
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C. The rotational speed is the number of rotations made by hard disk platters per minute
D. IOPS is the input/output operations or read/write operations per second

Correct Answer: B

QUESTION 5

An Oracle database logically consists of blocks, partitions, segments and tablespaces. Physically, an Oracle database
consists of multiple files such as data files, control files, redo log files, archived log files, parameter files and temporary
files.

A. TRUE

B. FALSE

Correct Answer: A
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